Math 2924-050
Fall 2015
Exam 2
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Name:

| Problem | Points
Problem 1 (3 pts)
Problem 2 (3 pts)
Problem 3 (3 pts)
(3 pts)

)

Problem 4 (3 pts
Problem 5 (3 pts

| Total (15 pts) | |

Instructions:

e You are allowed to use a calculator and one 4 inch by 6 inch index card of
formulas.

e A list of integral formulas is provided on the last page of the exam.

e You must show your work on any problem that requires a solution of more
than one or two lines.

e Some problems are easier than others. Make sure to attempt all the problems
before spending a lot of time on the hard ones.



1. (3 points) Evaluate the integral
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2. (3 points) Evaluate the integral
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3. (3 points) For which real numbers p does the following integral converge?
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4. (3 points) Evaluate the inetgral
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5. (3 points) Let a,, be defined recursively by

a; =1, Op = Qp_1 + 27" forn > 2.
Does the series
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converge? Why or why not?
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5. fsinxdx = —COS8 X

7. f sec?x dx = tan x
9. jsecxtanxdx‘—‘ sec x

Jsecxdx= In|sec x + tan x|

tan x dx = In|sec x|

sinh x dx = cosh x
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Table of Integration Formulas Constants of integration have been omitted.

1
2 J}-dx= In|x|

x

4. fa"dx= na
6. jcosxdx=sinx

8. jcsc2xdx= —cot x

10. J'cscxcotxdx= —csc x
12, fcscxdx=ln|cscx—-cotx

14. jcotxdx= In | sin x|

16. j cosh x dx = sinh x
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